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In Exercises 1—4 complete the table and use the results to estimate
the limit (if exist)

(B35 50 cilS 1Y) ) Algal) jast) Al andiinl 5 Jsaad) JaST 4 — 1 Gooladll B

X 1.9 1.99 1.999 2.001 2.01 2.1

f(x)| 0.3448 | 0.3344 | 0.3334 | 0.3332 |0.3322 0.3226

30l e s f(x) O 2 2l (2 e aS) x )omadl e x a1 13 4l aay
0.3332

0.3332
lim, L, ——— ~0.3332 s 4i;
Lo ey & el
O aas Jalasily
X —2 xX—2 1 1 1

] = I = | - -
x02 X2 —x—2 x (x—2)x+1) xorx+1 2+1 3

§ ~ 0.3332 of Lay



' x —2 2 -2 0_,
m = = — =
xl—>2 xz—x—z 4 —2 -2 0
w%g‘@.ﬁéﬁml\ .3‘ % (WEEEN
Wx+3 =43
2. lim
x—0 X
X -0.1 ‘ -0.01 ‘ -0.001 0.001 0.01 0.1

f(x) 0.2911‘ 0.2890' 0.2900 0.2900 | 0.288 0.2863

~ 0.2900

aaad) e R flx) G0 23l () (0 e S x )il (e x ) 1Y) 4l aaY
0.29

0.29
OS5 Adag
VET3 -3
lim ~ 0.29
x—0 X
ol Jaay

- NTF3 -3 (FF3 —VAEATI+VI)
x>0 X B x(Vx +3++3)




D5l e palaill alaal) B yay plaall 5 Jaad) Ly pua
x4+ 3—3 B X B 1
x(Wx+3+V3) x(Wx+3+V3) Vx+3+43

1 1 1 V3

T V0+3+v3 V3+v3 293 6

~ (.2886
1 1
3 limitx 4
x-»3 x—3
X | 2.9 2.99 2.999 3.001 3.01 3.1

f(x) | -0.0641 -0.062664 -0.06252| -0.06248 |-0.06234| -0.06098

~ —0.0625
ol Jaay
1 1 4-1-—x 3—x —(x —3)
lim1+x_z— 41+x)  4(1+x) 41 +x)

x-3 x—3 x—3 x—3 x—3



1 1 _— _ 1 < _00625
16

a(14%)  4(143)
4. lim
x-1 x+1
X | 09 0.99 0.999 1.001 | 1.01 1.1
f(x) | 0.5263| 0.5025 0.5002 |0.4997 | 0.4975 0.4762
~ 0.5
ol aay

In Exercises 5-11 , use the table technique to estimate the following

limits (if exist)

(3253 50 i€ 0) A5Y) Cllgal) yasil Jsaall 43y 5k Jaxial 11 — 5 bl

5. lim9

X2
X 1.9 1.99 1.999 2.1 2.01 2.001
F(x) 9 9 9 9 9 9

constant function = 9 = 436 4l



6. lim(x? + 2)

x—3

X 2.9 2.99 2.999 3.001 3.01 3.1
f(x) | 10.41| 10.9401f 10.9940| 11.0060 11,0602 11.61
=11
lim (x?+2)=32+2=9+2=11
X—
[ x+1
— ,x+1=200r x =2 -1
x+1
7 i x+1 _J
et x4 1]
k—:_rll , x+1<00r x< -1
X -1.1 -1.01 -1.001 -0.999 -0.99 -0.9
f(x) 1 1 1 1 1 1

Do flx) ol -1 el (-1 G ) x )omadl e x a8 13 4l aaY
1 2=l

Do f{x) OB -1 20l U (-1 e 8 x ) el (e x o 81 13 il
-1 2l

O sl bl e Al (55 Y Gpaall (g0 Al )



limit does not

exist = d.n.e 33y ne Al

o Vl=—x =2
8. lim
x-»-3 x+3
X -2.9 -2.99 -2.999 -3.001 -3.01 -3.1
f(x) | -0.252 -0.2500 | -0.2500 | -0.2500 | -0.249 | -0.2485
0.25 = .
~—025=—7
ol Jaay
o V1i-x -2 (VI-x-2)(V1—-x+2)
lim = i
x->-3 x+3 x—>=3 (x+3)(V1—x+2)
" 1—-x—-4 —(x +3)
= 1l1im
-3 (x+3)(W1—-x+2) x+3)(VI—-x+2)
_ —1 _ 1 _ 1
WV1—-x+2) J1—=(=3)+2 v1+3 +2
= L. L oI o
T Va+2  2+2 & 7



x%—16
9. lim —
x-4 x—4

X 3.9 3.99 3.999 4.001 4.01 4.1
f(x) 7.9 7.99 7.999 8.001 3.01 8.1

- x?-16

lim =8

8 2aall e i f(x) OB 4 232l I (4 e S x )omadd) e x a8 1Y)l JaaY

ol sy
2
oxc=16 @ (x—-4Dx+4)
oo T oy Tt =@sa=s
sin x
10. lim
x>0 X
X -0.5 -0.3 -0.1 0.1 0.3 0.5
f(x) 0.9589| 0.9851 0.9983 0.9983 0.9851 0.9589




lim

sin x

x->0 X

lim
x—0

11.

sin x

X

lim
x—0 X

= 09983 = 1

1 —cosx

X

-0.1

-0.01

-0.001

0.001

0.01

.

flx)

-0.000015

-0.000002

-0.000002

0.000002

0.000002

0.000002 ‘

~ 0.000

lim
x—0

= [im
x-=0X

-

lim
x—0

lim
x—0

1 —cosx

X

sinx

lim
x—0

(1 —cosx)(1+cosx)

sin 0

sin x

X

1 —cosx

X

1+ cosO

_ (l' sinx
(14 cosx) 20

)3+

x(1 + cosx)

X

lim

) (x—>0 (1 + cos x))

= lim

1 —cos?x

x—-0x(1 + cos x)

sin x

N ..~.. L@_A R Jé - é\u_]
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In Exercises 12 — 17, use the graph of the function fto find the
following limits (if exist)

(Cans o) ) AV Clledl) aail f AN an )y addind 17 — 12 ol

o Lot s el (e gl sy

elagus elian il 93 an )l 8

aine (el (e dadd Loy daaly o1 gud) sl elizandl 3 yilall clS 13 (1
o el Ll Aad g 83 ga gall o8 Lah iall Algdll (8 inia
'8)3\.)5‘ o.l@.j:\lt\.ld\ Yy J}MGSQ :\.A:\.QM

el Je + 3L am g right hand limit 2edl il a5

lim el ) x4l dss
x—at
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adtise ) (e Jadl Ly Jaaly ¢ sl 5l elianll 3 lall cuilS 13) (2
(s rmnl) Al A g 82 g gall (oo Tah (g5 penl) Al G i
bl a2 ALEAl) y ) e e dail) 4

2l Je - 3L acas left hand limit o) Aledll e 5

lim el ) xad) Jss
x—->a-

il (el ol 13 Jadd 5 i 53 93 5 [imit kel 0555 (3

Im el cllAl e yis oo gbadia s (4 o 90 (5 puall
XxX—a

3l Opastianay Aiaia & oS3 oo guall gl elizandl B y3lall o ey 128

i ) s & Ll (e g Cppadd) (e (arinia

, saserdl a8 Claiie ol ciliaia il sally JuaiV) sass S
Oe Ay oo S Lagy saal i se 2 see dmall 3 001 o au s
snia (e ol e OIS Les L Ol (e Jlail sl s 5l Jiaia
Dl e Juai) 5 aiiona

12. lim f(x) =

x—-0"
X dsx leie( duall @5 (allll 3L ) (5 el Dl alag) g8 L sl
Y Dsne o a@i cban 3 Ll dish a8 X )gan e 0 22l ) Hlas | 0 2l
Y osse e 1 22all5 0 2l G ALl Chuaiia by lad) (e (Faia Ll Jay
%wudfg\:gwgigi
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_ 1
)}1_%1_ f(x) = 5= 0.5

13. lim f(x)

x—0%
0 2=l A x o5 Levie( duall (38 231 511 5 5L} ) el el alag] s L o sllaall
daus Y ysme o i cligus il Lladigaaid X )sme e 02l )l
4 b Sl W O gl Y Jsne e 4 20l die g ) (e e L)

Qi@i

lim f(x) =4

x—0t

14. lim f(x) =d.n.e
x—0

(13 i ) el el o5 ¥ (12 G ) s metl) Al 0¥ 83 9n 50 g2 Al

1
lim f(x) = 5 ;txllr(l)1+f(x)=4so }Ci_r)r(l)f(x)=d.n.e

x—0"

15. lim f(x) =
X—27

saall ) x iy Laie (2 aaalli b il 5 L5 ) (o pend) el sla) 58 Ui slladl
Y osne Slo o sliay 3y lalad 488 aad X e e 20 2l Il D
Y osae de 1 22all5 0 22edl (g ALl Chuaiia (A5 Lol (o s L) Jay

%wu&w_naawoigi
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_ 1
)}1_)1121_ f(x) = 5= 0.5

16. lim f(x)

x—-27%
s3edl I x 55 Lavie (2 aael) 58 S50 L3 ) i) Al a8 U o slladl
Y osne o afi cliay 3 il Ll adgd aaid X jsaa e 2 2aall ) a2
skt el Al O (6l Y s e 0.5 23l die 5 el (e Jne Ll Jas
ol 0.5

_ 1
xllggr f(x)=05= >

17. lim f(x)
xX—2
O as s ) Gy el (e
I 1oy li -1
fp f0)= 5= lip f) so i) =5
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In Exercises 18 — 27, use the graph of the function f to find the
following limits (if exist)

(©ass o) ) A QL aadl £ Al sy padial 27 - 18 okl i

18. lim f(x)

x—0"

lilee LS 5 Jua) ddadi W 3S e 3 a5 il auca GlIA 5 00 aa g0 Y L Jaa Y
OsSom Bil
lim f(x) =0

x—0"
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19. lim  f(x)

x—0

UJS.\@LA\w)ASS\uALAS

lim f(x)=0

x—0t

20. lim f(x)

x—0

Ol a5 19 518 bl by yalll (1

lim f(x) =0 = 9lci_r)13+ f(x) so chi_r)rcl)f(x)=0

x—0"

21. Ilim  f(x)

x—-—1"1
JA0 Y 3 5l ol g oo s il Ll Aan]  x jaa Ao 1- 2l o JaaY
1- 2aal A x Js5 Ledie (5 mall Aledl) O (ol Slasll (e a5l inia g

O ) B p

lim _ f(x)= d.n.e.

xX—>—-1"

22. xl_izriJr f(x)

JA 5 lal) oda g elagu b pila Llad alan]  x jsaa e 1 daal) o aaY
55 sa 1- 20l ) x J5 Ledie aall Al O (s Cpad) (e piinn Lol
O ly e e 1- 20l 6l y ) saa o 5 500l 1 ge (5 sl
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Jim f() = —1

23. lim f(x)
x—>—1

13 33 5a 5a e (sl Aledll 21 Gl (0

lim f(x) =d.n.e.
x—>—1

24. lim f(x) =0

xX—3"

25. xlir%f(x) =d.n.e

26. lim f(x) = d.n.e

x—3
27.lim £ (f()) = lim £ (2) = 2

In Exercises 28 — 37 sketch the graph of the following functions
and estimate each limit ( if exist).

(Cans o ) Aled IS a5 A8 JIsall st awsyl 37 — 28 kel B
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28. lim f(x) f(x)=73

)
X—2
sl 5 il 23 bmal b bl s 8 el g
Aol dalll L Jas
il Sige |
'u_.._)llc_m| L_r.sndemmcm|
Tga AL__ashed
d »
al Ll

lim3 =3

X—2
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29. Li_r)rg)f(x) , fx)=x+1

bl 3l 3 boacal i il 1 A painall s
ol dalll U Jon

)l Sage |

e o | B A o |

Lo Gl

lim (x+1)=0+1=1

x—0
e AUl G x add) Jo58 gl 22l 3 il ase il
. Asthadll Al sed aaa



30. lim f(x)
xX—>—3

)

19

flx)= x?*+1

—
—

——]

badl 3yl ) ol bl 130 A puiipall i
da jula il aall Al s

‘x"(z) +1

ol g0 |

| 0 g |

s _orlLB

lim x4+ 1=(-3)?+1=9+4+1=10

x—>-3



31. lim f(x)
x—--—1

)

20

flx) = x°

bl 3l ) sl o b 1 b pirdl g
Aol dalll ) Jas

| x(9)

o a0 |

e o | 20 Gt e |

Taga O atled
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32. limf(x) , fl)= Vx

badl 3yl ) ol bl 130 A puiipall i
da jula il aall Al s

6°(1/2)

ol g0 |

| 0 g |

s _orlLB

lim Vx=v0=0

x—0
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33. lirq fx) , fx)=
x>

boadl il ) sl i abuisadl 88 o paipd g
da jula il sl Al s

e |
0l | Bayo |

r“u]‘e*ﬂ| 7‘-!‘35]|di5~mc~“|

Tags ALt
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x+1
X

34. limf(x) . flO)=

X—=

2

boadl il ) sl i abuisadl 88 o paipd g
Ao jalall dall ) Jas

[ t+1)i69)

el B |

,,.JJJ\CM| L_r.sndimmcm|

Tags ALt
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35.xlir£11f(x) ,  f(x)=|x+1]

bl 55l 35 kol bl 128 A il i
a1l Y g 8

[

)l tage |

,WJJ\(W| @usl|¢z.;mﬁm|

oy Gl

lim

x—->-—1

x+ 1| =|-1+1| =|0|

0
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36. }Ci_r)r(l) f(x) , f(x)cosx

bl 3 Ll ) bl i bl 138 A il g
da jula il aall Al s

‘cos(x)

0l Bayo |

r“‘JJ‘CM| 7’-255]|L]i5m6~“|

Tago ALl

lim cosx = cos(0) = 1
x—0
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37.1im f(x) , f(x)sin(%)

x—0

bl 3Ll 5 ) datusl s el 130 A puipdl gua
ajla il dalll ) Jos

| sin( (1)

ol Bago |

pesl ooe | 3590 dibe o |

Tage AL__usled |

1 1
lim sin (—) = sin (6) = sin(o) = d.n.e,

x—0 X

—1<sin(x) <1 otV
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In Exercises 38 — 46 ,use the formal definition Of the limit to
prove the following limits.

AV el o Ll el ) iy il axiial 46 — 38 Gl

38. lirq 8x =2

X—7

)
we want to show that given ¢ >0 3 § >0 3 if
1
‘x—z‘ < § then |8x — 2| <¢
£ = Oskal 3= there exist = 35 ,3= such that = & du~
Cuny §> 0 w5l e s Bl >0 Liel 13 4 culi ) 3
|I8x — 2| <& |x—i| < 6 s 1y
8 2
I8x — 2| < ¢, —|8x — 2| < ¢, 8‘x——‘<£
8 8
‘ 1‘<g 5
X —— —_=
4] 8
s sllaall ity 28l ) gladll uSas 5:3 aali 1)
f=gl<s o shdls
) X —— - ) X —— &
4 8 4

i-gl<o=3
Y% ~ 8

8
,‘8x—1‘<8, 8x — 2| < ¢
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39. lim(2x+1) =7
xX—3
38 Cpoaill b dal) il s ]
2x+1-7| <€, |12x — 6| < &, 2|lx — 3| < ¢

x—3|<o=§
) X 2 -

gﬁﬂ@@@umwﬁmw@j§=5 A

40. lim vVx =0

x—07
38 aill & Jall @il ghaa ]
V| <e,|x| <& |x—0]<e?2=§

G slhaall ainy ) G gladll (&g g2 = § A

[Vx—0| <e,

41.lim = 0.5

38 aill & Jall @il ghaa ]

12 — x|
|2x|

2—Xx
2X

———|<e,

<o, oA,

<&,|2—x|<4g|x—-2|<4e=§
4 222l ) Jew 2x o 2 2aadl Jl x Jo Ledie 43 Jaay

osthaal iy Al i ghdll GSasy 4e = § &
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42. lim v=-3—-x=0

xX—>—3"
38 palll & Jall il s Ll
|V-3—-x—-0|<e,|V-3—x|<e,|-3—x]|<¢e?

(1)@ +x| <&*, | — 1]|x + 3| < &2

Jx+3|<e?2=4§

lab| = |allb| , |—al = |a] =Y
43. lim(x—1)=a—-1, aer
XxX—a
38 (padll b Jall il sha i
x—1—-(a—1)| <&, |x—1—-a+1|<e

JJx—al<e=96
Colhall i Al G gladll (uSayy g =§ A
44, lim9 =9

x—0

b=e>0 A

9—-9|=|0|=0<¢

45. lim(15 — 6x) = —33

xX—8

38 Uooadll b Jall @l s ]
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|15 — 6x — (—33)| < ¢, |15 —6x + 33| < ¢
,|—6x + 48| < ¢, |(—6)(x —8)| < ¢

&
,|—6||x—8l<€,6|x—8|<e,|x—8|<g=5

sl ity Aaudl <l shadl) (e 2:5 A

46. lim(mx+b)=ma+b , a,b,meR

X—a
38 Uooadll 8 Jall @l ghas ]

lmx + b —ma — b| < ¢, lmx —ma| < ¢

5
, Im|lx —al <g|lx—al<—=§6

ud
Gl i ) ol adl) (pSayy — = § A&

In exercises 47 — 48, find the limit L.Then
find 6§ > 0 such that |f(x) — L| < 0.03
whenever 0 < |x — c| < 6.
Ol Cunas § > 0 aasl o8 Al aa ) 48-47 cpolal) B

|f(x) — L] <0.03 Laic 0 < |x —c| <.

47. lim (3x + 1)

x—-1

lim 3x+1)=3(-1)+1=-3+1= -2

x—--1
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3x +1—(=2)| <0.03, [3x+1+2|<0.03

,13x + 3| < 0.03,3|x — (—1)| < 0.03

0.03
) |x—(—1)|<T=001=5

38 Gl 8 Jall el glad ]

48. lim (3 - g)

xX—2

11m(3—§)=lim(6_x)=ﬂ=2

x—2 x—2 2

|(3—f)—2|<003 ‘6_x_4‘<003
2 ST |

,>|—x +2] <003, |-x +2| < 0.06

x—2]<0.06=6
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Section 1.2

Jall e Bacludn Al i) by jlai g ol 88 3 ) g o ladll Ja 8
a,ceR

1. a. limc=c, b. limx=a , ac€R
xX—a X—a

2. lim[f(x) £ g(x)] = lim f(x) £ lim g(x)
3. lim[f(x). g(x)] = lim f(x) . lim g(x)

(1G] mre
R o) R TrTe B

5. lim[cf(x)] = c[hm f(x)]

xX—a

6. a. limx™ = a" , n is positive integer
xX—a

ED 0 T e n
b. lim[f()]" = [lim f ()"
7. if f(x)is a polynomial then chl_r)rcll f(x) = f(a)

s s 2a=lly x JS e 3l (a 928 2 an 5 508 f(x) CulS 1Y) aga
Ao slhaall Ll sa Ll 0 5Sy5 x4

fon ge Aapnia e Lennd 5 s Tolac] LeDlabaae s & 2508l 5 i< 4y

ew\@)@hyyjjaﬂ\&ﬁ(mx)whyyd\
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8. IHBWZ Va
9. lim */F(x) = "\/chigcll £(x)

xX—a

10. if g(x) < f(x) < h(x), Li_r)rgg(x) =L = }Cl_r)rg h(x)

then limf(x) =1L

11.

12.

13.

14.

15.

16.

a.

X—C

limsind =0 , limcosO =1
6-0 6-0

limsinx =sina, limcosx = cosa
xX—a xX—a

limtanx = tana, limcotx = cota,
xXxX—a xX—a

lim secx = seca, limcscx =csca,
xXxX—a xX—a

48 y2a (5S35 €SC X 5 SEC X9 COt X s tan X Cus
N T .
o}ﬁa=nn+—2 , n € Z Lac
limtanx = lim sec x = o or — oo
xX—a x—-a
Q8 a=nm, ne€Z i Jiduy

lim cot x = lim ¢cscx = o0 or — o

xX—a xX—a
~ sinx 1 —-cosx
lim =1 , b.lm——— =0

x-0 X x—0 X
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tan (x) ,

c. lim

x—0 X

. sin(ax) a . tan(ax) a
17 a m— e b M Tp
X X
c.lim — =1 d.lim =1

x—-0SIn X x-0tan x

Section 1.2

Qush 4 107 9106 4siw EXERCISES (1.2) et

In Exercises 1 — 9 given that
limf(x) =2 ,limg(x) =—4 , limh(x) =0
X—a X—a xX—a
Find the limits

Of Culac§ 1319 — 1 ol
limf(x) =2 ,limg(x) =—4 , limh(x) =0
xX—a X—a xX—a

el aa la
1. lim[3f(x) + 4g(x)]
X—a

lim[3f(x) +4g(x)] =3 lim f(x) + 4 lim g(x)
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= 3(2) +4(—4)=6—-16 = —10
2, }ci—r%[h(x) —4g(x) + 2]

lim[h(x) —4g(x) + 2] = lim h(x) — 4 lim g(x) + lim2
xX—a xX—a xX—a xX—a

= 0—-4(-4)+2=16+2 =18

3. lim[f(x)g(x)]
lim[f(x)g(x)] = [lim f()][limgCx)] = (2)(—4) = —

xX—a
4. lim[g(x)]?
xX—a

lim[g(x)]* = [lim g(x)]* = [-4]* = 16

xX—a

5. lim \/2 + 3f(x)

xX—a

lim 3/2+ 37 (%) = \/11m2+311mf(x) = 32+3(2)

xX—a
= 38=1323=2

o 2 2 2
xoa—3+g(x) -3+ (—4) -7 7
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£(x) lim f(x) y)

7.lim —_ xoa - L
x—»ah(x)+g(x) limh(x)+limg(x) 0+ (—4)
xX—a xX—a
2 1
4 2
3 3
8. lim [2f(x)]z =[lim 2f(x)] 2
xX—a xX—a

3 3 3
=22 [2]2 = 22"

2
3

9. lim[4F ()] = [lim 4 ()]

xX—a

= 45 [2]§= Vaz /22 = Y16 V4 = 3/(16)(4) = V43 =4

In Exercises 10 — 14 use the Limit Laws and the graphs of f and
g in the figure to evaluate the following limits (if exist).

(2a3) astl JSEN A g o f ay g daledll ) 8 padiil 14 — 10 ool A
(a5 o)) A el
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10. lim [£(x) +3g(x)] = lim f(x) +3 lim g(x)
() +3(-1)=1-3=-2
11 lim[fG)g(x)] = lim f£(x) lim g(x)
= (2)(d.n.e) =d.n.e

because lim g(x)=—2 , lim g(x)= —1
x—1" x—-1t

lim g(x) # xli_)r%g(x) SO }Ci_r)ri[f(x)g(x)] d.n.e

x—1"

o T fy lmfx) 15

x=2g(x) }Cl_r)r% gx) 0 = dne
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28 e Cuwl oo 4

13. f(1)+lirr%g(x) =24+0=2
X—

14. lim [x? f(x)] = lim x? hm f(x)

X—>—2 xX—>-2 X——

= (-22)(1) = 4(1) = 4

In Exercises 15 — 30 find the limit(if exist)
(32532 30 S o) Yl aa 5 30 — 15 Culadl A

15. limx* = 2% =16

X—2

odall 4l J s A 2aally e JS e agad Gl 550 5 S

16.lim x> = (=3)°> = (-3)% (-3)? (-3)

xX——-3

(9(9)(=3) = —(81)(3) = 243
el l) s A 22ally jaie IS (e (s gai GlAL 2 50a 5,0

17. lim(2x—1)=2(0)—1=—1

x—0

il ad) J s o) aaally piaia JS e i gnd GllA 3 gaa 3 0K

18.1im (2x2 —3x+1) =2(=3)2-3(-3) + 1

x—>-—3
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= 18+9+1=28

ot 4] s ) aaally puatia JS e mgnd GllA 3o 3 0K

19. lim Vx+3= [lim(x+3)=vV-1+3=+2

x--1 x--1

20.1im 3/12x% + 2x — 1 = \/hm(12x2 +2x—1

x—-1 x—-1

= Y122 +2(1) - 1= V13

21. lim Vvx+ 3 = \/hm(x+3)—dne

xX——3 xX——3

Gl le bl e =3 2aad) e laa Ay 8 x5S0 Ladie 43l aa Y
335 50 (sl el O (6] s e Gl () Al 23e () 6K )3a)

22. lim 2x+3)*=Q2D+3)*=(-2+3)*=1*=1

x—--1
o o 2XT3_20D+3 11
e x—1 . S1-1 42772

24 lim 2x% — 16 2(5)2—16 50—-16 34 34V3
| o5 Vx — 2 V5—2  v3 v3 3

25. lim sin’x = sin ( )— (sm—) = (—)2 —l

X

6
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- 1+x+3sinx 1+0+3sin0 140+ 3(0)
26. lim = = =1
x—0 COS X cos 0 1

27. lirré\/8+sec2x= \/8+S€C20=\/8+ =9 =3
X—

11 1
cos20 (cos0)2 (1)

sec?x =

51 6w w
28. lim cosx = cos— = cos (— — —)

L 6 6 6
_COS(T[—E)_COSTL’COSE—SinTL'SinE
B 6/ 6 6
- v(Y)-0(3)--2
B 2 2) 2
29. i ™\ = cos = = = -1
. xl_r)r}COS(;)—COST—COST[——

20. 1 sin(mx) _sin0 0
Txm0 x+1 11

In Exercises 31 — 48 find the following limits(if exist)

(3253 50 cuilS () ) 48V Gl a5l 48 231 cpolal B
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=AY okl Gamy sl aals ot el ol da

3 il U= 5238 (polynomial) 252~ 3,08 allal) il 1) (1
Al sa &l oSy s Hariall Al Jg g2l 2a=lly aiall (e
dagaia dlac] g Ganl) ST Al & agaall s i s i Y
e da g Y il Jaa¥) | pueiall (5 san alie aa gy Vs A s
(JJ;M DJL&;\ Caal

aldall ) Jasal) (s alie g oy (e 3 5be Al clS 13) (2
2a2lly priall e (agad o s jlaidl Sy le pualid g LagdS
O i s e el 5 a1 13) ) andial) 4] Jg s
(A3 0w @kl asl @ada

438) yay Jassl) (o juaid alia g daws (e 3 ke Allall CulS 1) (3
i g A8 ey allall i o) o) (381 a0 alfall o il
Laaaal oas ce ()5S0 Jawad) S 13) Bale ) aliall (881 ey Janul
13 o Jawsal) (381 yay aliall g Jandl o juzaid H3ad) Cand Laa SIS
o paid Al cad Laa DS of Ladaal cpas (e oy oS LI RN

13) 48y ,lall o3 andisi Wle )asa se ool ST 8 Cus 4D
(oo S Jysix <als
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x2—1 (-1)2-1 1-1 0 o
31. i = = = — =277 W
o x+1 . —1+1 0 0
ox2=-1 (x—-Dkx+1
lim = li

o1 x+1 xot1 (x+ 1)
= limx—-1=-1-1=-2

x->—1

U jesid) o3 Lol Wlls

 3x%+5x—2
32. lim
xX——2 X+ 2

_ —5+,25-4(3)(-2) —-5++V25+24

* 6 6

_ -5+V49 -5+7 2 1 -2

T T T 6 YT 37T T
1

x=§,3x=1, Bx—-1)=0

x=-2, (x+2)=0

3x2+5x—2=0Bx—1)(x+2)

 3x%+5x-2  Bx—=1D(x+2)
lim = lim
x—>—2 x+2 x—>—2 (x+2)

= lim 3x—-1=3(-2)—-1=-6—-1=-7

X—>—=2

U i) o5 Jasuall Glla
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_ x3 =27 (3)3 —27 27-=-27 0
33. lim = = =—=7277777
x-3 X —3 3—3 0 0

x® =27 = 2% — (3)* = (x — 3)(x% + 3x + (3)?)

x3—-27  (x—=3)(x*+3x+(3)%)

lim = lim
x-3 X —3 x—3 x—3

= lim (x* +3x + (3)* = AB) + BB +9 =27

U jesia) o3 o) Wlls

- (x+3)sec(x+3) - (x+3)sec(x+3)
34. lim = lim
x——3 x?—9 x->-3 (x—3)(x+3)

sec(x +3) sec(—x+3) __sec(O) 1

— i
oy T x 3 —3_3 6 6

L il o alaal) Lills

1
O = = — = 1
sec(0) cos(0) 1
~cos’x—1  (cosx —1)(cosx + 1)
35. lim = lim
x=0 cosx —1  x-0 (cosx — 1)
=lirr(1)(cosx+1)=cos(0)+1= 1+1=2
X—

UM;“'\QM\ Llls
cos?x —1 = (cosx)? — 1% = (cosx — 1)(cosx + 1)

a’ —b?>=(a—Db)(a+b) =5V
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36. lim = lim ————— = lim =
-0 x2—x x0x(x—1) x~0x—-1 0-1
Ui jeaid) 2 aliall Lills
37 1 1—x y 1—x 1 1 ,
. lim = lim = lim —= —/— =
wellE! 4 ek 1 1
X 1x§—x§ x—1 xg(l_x) x—1 X3 13
L sl o laall Lills
1 4 1 3,1 1 1 1
x3 —x3=x3—x33=x3 — xx3 = x3(1—x)
x°+x—6 (x —2)(x+3)

38. lim = lim
x>-3 x2—=9 x--3 (x —3)(x + 3)
Uipeaid) o5 alial) g Javadl (je JS Lills

x-2 —3-2 -5 5

T _ _
>3 x—3 -3-3 -6 6
20, 1 x2+2x—8_1_ (x+4)(x —2)
'xl—rgxz—x—Z_xl—Ig(x+1)(x—2)

U o) o5 aliall g ol (e JS Lilla
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_ 1 x + 4 2+ 4 6_2
TN x+1 241 3

e AU Gy (x4l Joss el 2l ) 2 2a=lly x e Bl Lia ge
'_‘....'...

Vx+5-3 y (Vx+5-3)(Wx+5+3)
xoi x—4  xot (ﬁ—@@@?§+3)

y x+5-9 I x—4
= |lim = 11m
=4 (x—4)Wx+5+3) 4t (x—4)HNx+5+3)
y 1 1 1
= 11m = =
>4 \x+54+3 V4+5+3 V9+3
11
3+3 6
Gpaa ade Jasad) (38 yas Tl i die Ll Uad
Lol (o jam aae aliall (38 yay aliall i die ;g
alaall (38 ya;
41. 11_r>n'xjc_ 2

W?I_ V7)Wx +5++7)
x—>2 (x—2)(Wx+5++7)




46

_ i x+5-7
" (x—2)Wx+5+V7)
I X —2 y 1
Tl (x—2)(X 54V ) 2 (WxE54V7)
1 1 V7

CV2+5+N7 247 14

42 Tim x+ 2  im (x+2)(Vx2+5+3)
x->-2x2 1 5 — X—— 2(\/3627 3)(\/)627+3 )

(x+2)(Vx2+5+3) im (x+2)(Vx2+5+3)

x>-2 x2+5-9 x—=2 x? —4
. (x+2)(\/x2+5+3)_ . (Vx2+5+3)
TN T e -2) o (x — 2)

_V(=2?*+5+3 V9+3 6 3

—2-2 -4 4 2
1 1 3—3—x —X
43, lim3+x 3=1im 3G + %) =1imM
x—-0 X x—-0 X x—-0 X
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. -1 11
T 2% 3B+x)  3B3+0) 9

1.1 2—x —(x —2) .
X 2 _  2x  _ 2x i
M T2 Mooy ~ Moy
B 1 1
22 4
45 1 { 1 1 }—l' x—1—x%+1
Dol —1 x—1)  xot x?—-1D(x—-1)
_ x — x? . —x(—1+x)
it x2—1D(x-1) xol x?2-1(x—-1)
_ —x(x—1) _ X 1
Tl (2 —Dx—1) o1 x2-1 1-1
. d
_- —— = —00 = .
0 n.e

1/ 1 1 1
46. lim —( —1) = lim —————
h—0 (h V1i+h ) h-0 h3/1+h h

_po 1=VIER (=T + VIR
0 p/I+h h0 (W1 R)(1+VI+h)

U i) &5 (L sha) Tl (380 ja alal) g Janssl) Uiy juim
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1-1—-nh

TR WTE AL VITh)
| —h s —1
=i (W1I+Rh)(1+VIi+h) s W1+h)(1+VI+h)
1 1 1

T (WIF0)(+Viro @a+1n 2

h—0 s maally x > 0 ous

o 2(x+Ax) — 2x o 2x 4+ 2Ax — 2x
47. lim = lim
Ax—0 Ax Ax—0 Ax
2Ax
= lim —= lim 2=2

Ax—0 Ax Ax—0

o (x + Ax)? — x?  x% 4 2xAx + Ax? — x?
48. lim = lim
Ax—0 Ax Ax—0 Ax
2xAx + Ax?

= lim = lim 2x+Ax =2x+ 0 = 2x
Ax—0 Ax Ax—0
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In Exercises 49 — 70 find the following limits(if exist)

(3355 50 S () ) 591 L) a5l 70 -49 o kel 3

19 1 sin (50) y sin(50) 5
T80 @8 b0 (D8 1
. sin (ax) a
xlg(l) bx B b
~sin(2h) . sin(2h) 2
0T TS TR 1
sinx 1 sinx 1 sinx
51. lim = lim - = lim, — lim ——
x—0* x?2 x—0* x x2  x-0t X x-0t X
1 1 li L _1_
(xir(r)l*' )( ) = xlgl"' x_O_OO
_ sin®x sin x sin x
52. lim = lim (sinx) = (hm sin x)(lim )
x—0 X x—0 X -0 x-0 X

= (lnr(l) sinx)(1) = limsinx =0

x—0



50

sin(6x) sin (6x)

sin(6x lim
53. llm—( ) im bx _ _x20 60X
x->0tan (3x) x-0 tan (3x) lim 20 (3x)
6x x—0 6Xx
6
6 _66 6 5
-3 63 3
6
. sin (3x) 3
4 1 sin 3x) }Cl_r)r(l) 3x _ 3 33 3
- MSin (7x) lim $I0(7%) 7 37 7
x—0 3x 3
sin®(5x) 1 sin(5x) 1 sin(5x)
: , 2 _ [ 2
> m—r e = g liml——1" =3 [lm—
1 c12 = 25
=3 Bl = 3
~ sinx? _ ~ sinx?
56. lim = lim x lim ——=lim x(1) = limx =0
x—0 X x>0 x-0 X x—0 x—0
57 sinx_ 1 I sinx 1 \/_smx
' xLI(r)l"’ 3& 3 er(glJf \/} 3 xggl
1 sinx
3 g VF Jim S5 = 3 ()W =
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_ sin x _ sinx(1 + cos x)
58. lim ——— = lim
x-0 1 —cosx x-0 (1—cosx)(1+ cosx)

. sinx(1 + cosx) . sinx(1 + cosx)
= lim = lim -
x-0 1 —cos?x x—0 sin’x
14+ cosx 1+4+cosO0O 1+1
= lim . — . = — — —
x>0  sinx sin 0 0
_ t2 _ t2 _ t ot
59. lim = lim = li

2 - . 2 m . .
t-01 — cos4t t—-0 Sin“t t-0 sint sint

t t
= |lim — lim—=(1)(1) =1
tl—r>% sint tl_r)r(} sin (1))

X

X
60. lim = lim
: T T T

x>0 cos 5 —x) x=0 COS 7 COS X + sin= sin x

- x L] x
= lim = lim

=1
x>0 (0)cosx + (1)sinx x-0 sinx

s . Sinx _ X .
coS (—) = c0s90° =0, lim =1,lim — =1 iV
2 x—0 X x—0 Sin x
_ 62 _ 6%(1 + cos )
61. im —— = lim

6-0 1 —cos@ 6-0 (1 —cosB)(1+ cosB)

. 6%(1+cos6) y 6%(1 + cos 0)
T 850 1—cos28 650 sin?6
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6 6
el—r}(l) sin@sine( teosf) = (MMA+D)

1—cos (3h) (1 —cos(3h))(1+ cos (3h))

2.li — lim —
02 I osZGh) — 1 A~ = cos2(5h)) (1 + cos (3h))

. 1 — cos?(3h)
"m0 sin2(5h)( 1 + cos (3h))
_ sin?(3h)
= lim — —
h—~0  sin?(5h)( 1+ cos (3h))

sin?(3h)
e D)k
~ hoo sin?(5h)( 1+ cos (3h))

(2)h(3)h

sin (3h)sin (3h)
i 2h 3h

h—o sin(5h) (sin (5h)(1 + cos (3h)
2h 3h
3\ 3 3 3
(@ __ .2 __32.33_9
BIOEEEIONEETONEE
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x% —3sinx x%2 3sinx

63. lim = lim -
x—0 X x>0 X X
3sinx
= lim x — lim =(0)—-3)1) =-3
x—0 X
x—0
61 1 5x —sinx
" x50 4 sin(5x) — 3tan (2x)
y 5x —sinx
= lim
x—0 . sin (ZX)
4 51n(5x) -3 m
_ 5x —sinx
= lim : .
x-0 4 sin(5x) cos(2x) — 3 sin(2x)
cos (2x)
a a .
b b _ @ a
= = L= - - = — )
c € bc bec<
1
_ 5x —sinx
= lim

x—0 4 sin(5x) cos?(2x) — 3 sin(2x)cos (2x)
O i X e alad) s sl (e S dandy
¢ _sinx
lim X
x-0 4sin(5x) cos?(2x) — 3 sin(2x)cos (2x)
X




f(x)
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f) % _ fx) x  f(x) 5y
_= jr— j— LS.»A.U
gx) g&x) x gx) gx)
X
£ _ sin x
lim . X
x~0 4sin(5x) cos?(2x) 3 sin(2x)cos (2x)
X X
O g bl b
5—-1 _ 4 B 2
(4)(5)(1) —3(2)(1) 14 7
. x—2sin(3x) . x—2sin (3x)
65. lim = 1li .
x-0 4x +tanx x—0 X + Sin x
COSX
~ x —2sin (3x) _ x — 2sin (3x)
= lim —— = |im :
x—0 4xcosx + sinx  x504xcos?x + sin xcos x
COSX
x — 2sin (3x)
lim X
x->0 4xcos?x + sinxcos x

X
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_ 2sin (3x)

1 X
lim 5 :
x—0 4xcos?x  sinxcos x

X t X

O i Gl 24k

_ 1-(2)3) 1—-6 -5
lim = =

morrom - 5 o5 -t

c6.li sin (x —5) . sin (x — 5)
‘X5 x2 — 25 _xl—rg(x—S)(x+5)

sin(x —s) 1

_ 1 1
=9lcl—I}}> x—5 x+5_(1)(5+5)__

T
67. 1im S e T L
g x — 2 ¢ 2 x x 2
n_n—Zt X 2 B 2T
’ x 2 'n_n—Zt'x_n—Zt
Ladic 43 aa Y
x >0 thent - 2
COS (E —t) COS=coSt + sin=sint
lim 2 = lim 2 2
t—0 2T _ 9 t—0 27T — 21 + 4t
T — 2t T — 2t
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T . T .
cosj cost + Sl?’l?SlTlt

= lim 4t
T — 2t
(mr — 2t) (cos%cos t + Singsint)

= lim

t—-0 4t
1 (m — 2t) (cos%cos t + Singsint)
— lim
4 t

t—0

O i gl 2k
(= OI((0)(®) + (D] = 7 7=
2 (m— 0)] =27=3
~sin (mx)
68. Ilm ——— lett=x—1, x=1+t
x-1 x—1
~sin (mx) _sin (T + mt)

lim ——— =
x-»1 x—1 t—0 t

. m[sin mcosmt + cosmsinmt]
= lim

t—0 mt

~ m(sinmcosmt) cosTsinTt
= lim + limm (.

t—0 mt t—0 it

_ cosmsinit

+imr ( =) = 7(0)(©) + 7DD = -7
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Jiw o 3ac s ARERE Jall

d(1 —tanx) . , T
o = —(sec” x) = —sec 2
I8

d(x _Z) .

dx

2

1—tanx  —Sec™ 7 T
1m T 4 = —SBCZ— = _(\/5)2 —
3 X—7 1 4

COX X — Sinx

70. lim =
x—>Z X — Z
Jiw o 3ac s ARERE Jall
d(cox x — sin x) _ m /[
= —sinx —cosx = —sin—— CoS—
dx 4 4

(-G
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In Exercises 71 — 72 use the squeeze Theorem to find

lim f(x)

X—C

23l (Hdall) yemal) &yl aasind 72 — 71 ol S

lim f(x)

X—C

71.c=4,4x—9<f(x) <x*>—4x+7
lim4x —-9=16—-9=7

xX—4

limx?—4x+7=16—-16+7=7

xX—4

7<limf(x) <7 solimf(x)=17
c—4 c—4

72.¢c=1,2x < f(x) <x*—x%+2
lim2x =2(1) =2

x—-1

limx*—x?+2= (D*—(1D)*+2=1-1+2=2

x—-1

2 <Ilimf(x) <2, so lirrllf(x) =2
c—

c—1
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_ 1 x* 1-—cosx
73. suppose the inequality Sy < 22

1—-cosx

1
< —
2

Holds for values of x close to O, Find lim >
x—0 X

1 x2 1—-cosx

- v y o 1 . . £ .
Oo A Al x pil dagmia —— 2 < < - daal il Gl a4
X
Clim 2% a0 2
x—0 x?
: 1 x? 1
lim ~——==--0=-
x>0 2 24 2
I 1 1
im — ==
x>0 2 2
 1—=cosx 1
so lim > = =
x—0 X

3
74. Show that lim [x4 COS (—)] =0
x—0 X

lim,_, lx4 cos (z)] =0 ol z=s
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lim—x*=-0*=0
x—0

limx*=0%=0
x—-0

so lim x* cos (—) =0
x—0 X

75. Show that lim [Vx sin (—)] =0

x-0*t

—1Ssin(§)£1 , —ﬁs&sin(g)sﬁ

since lim so Vx>0
x—07t

hm—\/— —v/0=0, hm\/_ V0 =0

x—0t xao

. . 7T _
S0 xlg(r)a[ﬁ sin (;)] =
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Section 1.3

sl 81265125 5124 4séa EXERCISES( 1.3 ) (ol

In Exercises 1- 9, for the function f whose graph is given,
determine the following limits.

Gl aas - ara (e ) Lepindo Al g f AlAll 9 — 1 okl B

25!

1. imf(x)=0 , 2. lim f(x)=-2
x—2 x——37%

3. lim f(x)=2 , 4. lim f(x)=d.n.e
x—>—3" X—>—3

5. lim f(x)= -1, 6. lim f(x) =3.5
x—-0% x—0~

7. }Cir%f(x)=d.n.e, 8. lim f(x)=0

X——00
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9. lim f(x) =1

X— 00

In Exercises 10 - 18, for the function f whose graph is given,
determine the following limits.

Gl das | Jare (L ) berinio Sl g f Al 18-10 ool

25!

X—2~

10. lim f(x) = o , 11.  lim f(x) = —
x—-2%

12. lim f(x) =d.n.e , 13. lim f(x)=—

xX—2 X—>—2"

14. lim  f(x)=c , 15. lim f(x)=d.n.e
x——2% xX—>—2

16. lim0 fx)=2 , 17. lim f(x) =0
x—

X——00
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18. lim f(x) =0

X— 00

dall e Laclus Al cly plaill g ol gall (amy oy Lad o) i
( vertical asymptote) =l clEiba cew x=a aficdl (1
CulS 1Y) f Al au ]
lim f(x) = —0 5 lim f(x) = o
x—a x—a
( horizontal asymptote) & ol b ey y=| aicall (2
ClS 1Y) f Al an ]

lim f(x)=L s lim f(x)=1L

X—>—00 X—00
(n=1) nas_d 5e ((polynomial ) 253 3 43S p(x) <uls 1) (3
OB p(x) & x™ delxe 2@, OS13)s

lim p(x) = llm (anx")
xX—+oo xXx—

lim (—5x2 + 2x3 + 6x — 4) = lim (2x¥ = o

X—00 X— 00

SYI e gd aal) Jass 2als
lim (7x3 — 5x7 + 6x° — 4x — 9)
X——00

= lim (=5x7 = (=5)(~)” = (~5)(~0) = o0

lim,_,_ o (7x3 — 5x° + 6x° —4x —9)
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= lim (=5x) = (=5)(~)® = (=5)(c0) = —

X——00

QM s e ¢# () 5@ i dae r QS ) (4

" C . C
lim—=0 5 lim —=0
X—00 X‘I‘ X—>—00 xT

In Exercises 19 — 31, determine each limit

Ales JS 2a 31 — 19 okl i

T2 T2 _ -2 - (2Y_ _ (2= _
19 ;}L%l+§_5(+0)_+o_+(o)_ (0)_ *

_ 3 3 +\ 3
SN E -

1T 2x—1 2(3) -1 5 (+)(5)
= = =|—]|—])] =00
" oE x — 3 3-3 10 \+/\0

Yy 3x  3(=5) _ -15
"o 3- 2x+10 2(=5)+10 —0

= 0O

N 5 5 5
A =72 (7—72 0




24.

25.

26.

27.

28.

29.

30.

65

T ~1 ~1
= = = —O0CO
0x2(x+1)  (O)@O0+1) 0

_ vx+1 +x Vv6+1+6 Vv6+1+6
llm = = — 00
xX—6~ 6 —x 6 —6 0

1
11m(1+—)—1+—:1—oo=—oo
x—0" —0

lim —= lim —= lim —-1=-1
x-0" X x->0" X x—0"
sinx Sin (7) 1
lim tanx = im = T =T =00
x>(3)” x-(3)~ COS X cos )
. . 1 1
lim secx = lim = 6 = 00

T T
x_)(_f)-'- x_)(_f)-'- COS X
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1
31. lim (1+cscx) = lim (1+ , >=1+ — = —00
x>0~ x—0~ sin x

In Exercises 32 — 51 evaluate each limit(if exist)

(ans 0 ) led IS (aasl) i 51— 32 gulall

39 1 3x + 4
' x1—>r{3101—5x

APREN | [P SVENPRE| X = 00 3 x > —00 Lfidgjw\wt}ﬂ‘\&dla‘;
(x 2 SV Yl x ) LS W @l x o e

s Eadged gy
lim = = lim = lim
x—o0o 1 — 5x 1_5_36 x—>001_5 x—>ool_5
X X X 00
_3+O_ 3
-~ 0-5 5
2x3 +7
33. lim =

o 2x3 47 _ 2+3
lim > = lim
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7

~ 2t Coo)3 __2-0 .
- 1 1 7  140+0-0
e T ey T ey
10 1 24
o lox®+x*+24 0 St 216
34. lim = lim
X—00 x6—x4+1 X—00 1 1
1—;4—;
_0+0+0
~1-0+0
DSY) ) 53 aall (6 X6 e asaall aes Liand
2 3
2 | 2¢+3 xTx2  —0+40
xomw—3xZ+2x—1 xow 5 21 —3-0-0
X x?2
=0
1 1
] ;ﬁ+x—1%_l _1+§—;§%
o ez P = m =l 3
8——
X
1-0—-01 11 1
= — ]3 = [—]3:—
8—0 8 2
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x3+x—2 xow 1 1 2
\ 2 x3
0—-0
= =v0=0
\/1+0—0 Vo
sl 1
o 2x4+xt Vx  x2 040
38. lim = lim = =
x>0  3x+7 X—00 3+Z 3+0
X
X}Ajwi)gssécdjjﬂ\&;w
i V1 1
= = ,X z—u_m.uy
X Axvx  VJx X
3 5 11
39. i Ve - va lim =%
R Y~y e L S T
¥ VetV x x3 + x5

1 e e . - v

1 1
1——71 1-—
= lim X35 _ lim x5 _ 179
= o 1 xo-w T 1-0
l——7 I——
x3 5 x15
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1 1_5—3_2
3 5 15 15
1 3
__5_|__
. Vx —5x+3 _ xé X
4.0. llr_n > = hr_n T 7
¥ 2x +x3—4 7 24—
x3

(0 oST) x Lo 2 gaal) aren Liand

T2-0+0 2 2
x% 1
Vx4l N2 TR V140 V1
41. lim —— = lim = — =1
s a1l aome s x 1 1-0 1
X X
(OSY) Y1) X e 2s0al) e Liand
vxi+1 x2+1 .
—+— i Y
2
x% 7
_ _ x%+7 _ 2+x_2 \/ﬁ \/—
42. lim lim ——— = lim — _
x—00 x>0 X + 3 x—00 3 1+0

X

(J:‘SY‘wY\)xLAr—J;AaJ\@A;M
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3 x 3

Y — A2

43. lim = lim L —"
Xow - Af4x2 425 xo® [ 42 25
‘4;;;4‘3;5

41 Cnyaid) kil (LS GV ) X e asanll auen Liand

1-0 1 1
VE+0 VA 2
4
_ 4-3x3 33
4‘4‘ llmx—>—oo m xl_l)r_noo x6 o9
X6 %6
(OSY oY1) x3 Lo asoal) pen Lieud
_T0-3_-3_ 3_ 4
vi+0 v1 1
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45. lim (Vx? +25 —+/x?2-1)

X— 00

agle daudll 5 (381 ally ozl
y (VxZ +25 —Vx2 —1)(VxZ2 + 25 +Vx2 — 1)
= 11m
X—>00 (Vx% +25+Vx?2 —1)
_ x2+25—x%+1 _ 26
= lim = lim
x-0 (Vx2 +25+Vx2—1) x> (x2+25+Vx2-1)
(Jﬁy\wy\)xsk-djjﬂ\@geuﬂ
s Aliall ety Al 3T vie 0 (s sbny 22 (g o) o il g1 (e
: : t
Lﬁ‘ 0 sl c.a\.d\ Sl jaall

lim (Vx?2+25 —-yx2—-1)=0

X—00

46. lim (2x ++/4x2 + 3x —2)

X——00
Adle Fasll g 381 5ally ol

(2x + \/4x2 + 3x — 2)(2x — \/4x2% + 3x — 2)

= lim
X—=o0 (2x — \/4x2 — 3x — 2)
_ 2x —4x% —3x + 2
= lim

x>=© (2x — J4x2 — 3x — 2)

_ —4x% —x + 2
= lim
x>=© (2x — J4x2 — 3x — 2)
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SV 1) %2 e asaall gues aud

,_1.2
o T T2 —44+04+0 —4
= lim — —
) 4 3 2 0-+40+0-0 O
x Nx2 3 4
= —00

47 lim ( Ox? — x — 3x)

X— 00

adle Fanill 5 (381 5l o el

(\/9x2 —x — 3x)(\/9x2 —x + 3x)

x—>°° (\/9x2 —x+ 3x)
9x?% — x — 9x? —Xx

lim = lim

X—00 9x2 — x + 3x x>0 (4/9x2 — x + 3x
(Vv ) (v
(ST G ) x ol asaall auen ans

— —1 1
= lim ——
X—00 \/9 0 +3 6

48. lim (vx2 + x —/x% —x)

X— 00

adle Fanill 5 (381 5l o el
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(R0 VD
- xow (\/x2 +x) +Vx2 —x)

— lim x?+x—x+x . 2x
 xow (JxZHx) +VaZ—x)  (JxZ+x) +VaZ—x)

(Jﬁy\wiﬁ\)xécdjdﬂ\@geu&

. 2 2 2
zhm = =—=1
X—>00 /1 1, [, 1 Vi+0+v1-0 2
+§+ —

3x + sinx

49. li
x5 4x — oS (2x)

(ﬁy\wy\)xéﬂzdjﬁ\@ge&ﬁ

sin x

_ 3+— 340 3
= lim = = —
x-e ,  COS 2x) 4-0 4
b
—1 sinx 1
—1<sinx <1, < < -
b b b
—1 cos(2x) 1
—1<cos(2x) <1, < < -
b b b

_ X —sinx
50. lim >
x—o 33X + cosc x

(OSY) G ) x o asanl) mnen s
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sin x
1-—= 1-0 1

:9}1—{2 cos’x 3+0 3
3+
be
49 (aludl el i
. sin x X 1 =
anx — x - 09
51 lim —_Cosx =0 2
x5t tan(2x) + 3  sin (2x) L3 Sinm o
cos (2x) COST
oo — T
_11 y3 ~0+3 3

In Exercises 52- 61, determine the horizontal and vertical
asymptotes (if any)for the following functions.

JIsall (3253 O ) (il V5 (Y o lEl i sas 61 — 52 cpolal A
AgY)
( vertical asymptote) =l clEiba Lew x=a afiedl (1

Cal 1Y) A as )

lim f(x) = —o s lim f(x) = o

xX—a x—a

( horizontal asymptote) &8l s ba ey y=L afivall (2
ClS 13 AN an )

lim fO)=L S lim o)=L

X——00
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1
52. f(x) =71

I 1 1 1
= = — = 00
ol x2—1 1-1_0

so the line x = 11is vertical asymptote

lim 1 = 1 = l = 00

x--1 x>—1 1-—-1 0
so the line x = —11is vertical asymptote
lim - - 0

xow x2—1 oo—1
so the line y = 0is horizontal asymptote
53. f(0) = 7—

fx) = 90— x2

I X 3 3
= = — = O
xl—rg 9 — x?2 9—-9 0

so the line x = 3 is vertical asymptote

X —3 —3

xlirzlS 9—x2=9—9=0__
so the line x = —3 is vertical asymptote
1
T S x 0 _,
¥ 0 — X2 xhe 9 L 0-1
==

so the line y = 0is horizontal asymptote
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3x?

54. f(x) = e x? + 7 = 7 so no vertical asymptote
li 5 > 3

im = =
xX=00 4y x_72 1+0

so the line y = 3 is horizontal asymptote

2 + x3
2(1—x)

55. f(x) =~

x*’(1—x)=0,x=00r1—x=0,x=1

2+ x3 240 2

li = =
x50 x2(1—x) 0(1—0) 0

so the line x = 0 is vertical asymptote

. 2+ x3 2+1 3 3
— = = — = 00
o1 x2(1—x) 1(1—-1) 1(0) 0

sotheline x =1 is vertical asymptote

2

' 2+ x3 ' = +1 041 1 .
el pol Sl e

so the line y = —1 is horizontal asymptote
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2 + x3
56. f(x) = —

. 2+x3 24+64 66
= = = 00
o4 x—4  4—4 0

so the line x = 4 is vertical asymptote

2
' 2+x*  3tl o+1 1
x1—>nolo x—4_i_i_0_0_6_oo
x2 x3

so there is no horizontal asymptote

,4 + x% > 4 so no vertical asymptote

57.£(0) Wﬁ

1

lim

1 1
I T \/7 Vori Vi

sotheline y =1 is horizontal asymptote

X
—— —1 —1
lim = -1

s = rmw

so the line y = —1 is horizontal asymptote
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X

58. f(x) = ———
V4 — x?
4—x>=0,x>=4,x=20rx =-2
I X 2
xl—rg V4 — x2 - O_Oo
so the line x = 2 is vertical asymptote
I X —2
—_— e — = —00
xirllz 1/4 — x2 0
so the line x = —2 is vertical asymptote
1 1 1
lim ——— -
X—00 1/ — xZ ﬂ/o — l
P -1
I 1
x—1>moo 1/ — x2 [
F -1
so there is no horizontal asymptote
1-x = —(x-1) 1

59. f(x)=x2+x—2_ (x+2)(x—1)=_(x+2)

x+2=0,x=-2
1 1 1

li —_ = — = —_——= —
o T x+2  Z2+2 >
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so the line x = —2 is vertical asymptote

] P P

oo x+2 wo+2 o B
1 1 1

lim — - =0

X——00 x+2= —oo+2: —00

so theline y =0 is horizontal asymptote

_ox(x+2)  x(x+2)
60.f(x)— x3+5x2+6x_x(x2+SX+6)
x(x +2) 1

N x(x+3)(x+2)= x+3
x+3=0,x=-3

lim 1 = 1 = 1 = 00

x-»-3 x+3 -3+3 0

so the line x = —3 is vertical asymptote
lim = L l =0

X—00 x+3=oo+3=oo

so theline y =0 is horizontal asymptote

61 ()_4sinx
f(x) = .
4.sin x sin x
lim =4 lim =4(1) =14

x-0 X x>0 X
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so there is no vertical asymptote

~ 4sinx 4sino
lim = =0
X— 00 X o

so theline y =0 is horizontal asymptote

In Exercises 62 — 64 use the formal definition to prove the
following limits.

Y il ca Ll ) Cay el axiiin) 64 — 62 Cpolaill

62. lim — =
2 T

CalS 13 4l Cuny §> 0 Ay e adls M>0 Lkl 1)

1
|x|

>M 8 0<|x|<8s 0<]||x|—-0]<é
O5SE S = 4 as AN x| < = 1y ki — > M
M M | x|

= > M ey |x| <o o x| <& sy

x|

x—0 |x| )

63. )lCI_I’)I} (x——l)zz

wl Cusy §> 0 2 s 4ld N<O Liskac 13
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-3

<N B 0<|x—1| <6 <ls

(x—1)2
= <N > > N 12<3
Gz N TN E-DT<y
| 1| < 3—5
X N =
64. lim

ols (x+5)2

CalS 1) il Cuay §> 0 sy ey adld M>0 Lihae 1)

1 .
e M x5 <0
1) Jad 5 1) 2 <L)y Ly 1y !
L8 (x+5)7 < WEEE s > M

1
(X+5)<\/—M=5
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Section 1.4

CUSl 3142 5141 5140 daia (1.4) el

do g il S cagansi ) x=¢  ddatill aie (continuous) Aaie f Al &8
1!

f (domain) Jiae 8 ¢ sl 48 2 f(c) (1
lim f(x) 35 (2
X—C

lim f(x) = f(c) (3

(a,b) 4 sitall 5 yiall 8 4kt JS 2ie (continuous) dlaie Allall cuilS 13)
(a,b) 3l le (continuous) dhaia ) 5S5 Lgile

aia g [a,b] ddladl 5 sl e (defined) 4d e f Alal) cuilS 13)
(continuous) Aaia (5 5S5 Lgild (g,b) 4a siddll 3 538l e (continuous)
- Q\.LJJJ\ (e \5) [a’b] dala ) '5)'_'@5\ ‘;;

Jim fx) =fla) 5 lim f(x) = f(b)

C &iall 2l die (continuous) (ilaie g 5 f oallall (e JS cailS 1)
c dic (continuous) dlaie (¢S5 AEV) Jgall d

a) f+g b) f-g c)f.g d) g ,8(c) # 0



83

R d.aisal) Aac Y @A;l data p(x) (polynomial) 3 gasll 3 ,0S 4y

s die data r(x) = % (rational function) 4wl Alall

g(c)=0 <us ¢ dacYl sacle R Agidall alacy)

adlall e g(c) die Alata f Adlall g CJJ:J\JA;::\LASAg ANl el 1)
c&cﬁm&djﬁfog 4S L4l

5 b e ddate f Alall ¢l 1))
limg(x) =b

X—C

lim f(g(x)) = £(b) = f(lim g(x))

intermediate value theorem 4dau siall dadll 4, a3
f(a) om 2ae ) k <ilS 13l 5 [a,b] ddleall 5 il e dlaia f Allall cuilS 1))
f(c)=k of ¢usa[a,b] &b c e JBYI e s gy 43l f(b)

DY) e an 5 aild ilinn (i L8] Legd f(b) 5 @) il 13 il as Y
f(c)=0 of Cusi[a,b] Gbc 2=

f(b) 5 f(a) o JBYI e 30 Xsna aday Aal (amy ) Fnie off s
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In Exercises 1 — 5 use the graph to determine where the
function is discontinuous.

Alaia je Al G oS3 Gl aaadl sl aadin) 5 — 1 o laill 8

. (discontinuous)

~1ohbe Baa3l a1 e x=c die dliata Al o) aaadl
;‘J}»iju‘ﬁ:\a} ;:\..‘i_}u:ji ;wzj‘dwﬁu}\é&m& (1
‘;ﬂ\ 3 ylall cwilS 13) Jasd g Jasd ¢ aie (continuous ) Aaie ddlall & (2
Dl ey Gaadll e A i L A ela s Bl oo Letiad ol ¢ (358

. (discontinuous ) Alaie e laxie Alall 6 Ll e @l g2 L
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1. no points of discontinuity
lellae JS e dliaia DAl o o Juai) ane Lalds an gy Y
2. x=-1
Alall Jlae B Gl -1 20a]) (ol elimy 5550 4 -1 2aal) 358 3500l oY
CLSH 8 sV a8 el g e ana )l IS 1)
3.x=-1,x=1

1 5-1 ool (e JS 38 ol elagun 3 00 an g Y a3l
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Cbome e f(-1) 5f(1) O &
4. discontinuous at all integers { ...-3,-2,-1,0,1,2,3,...}
Gassall dae Yl apes e Aliaic
5.x=0

82ga 50 e f(0) Of 6! 0222l (58 slasan s yilaaa g Y ASY

In Exercises 6 — 11 discuss the continuity of each at the
indicated point.

Baaad) ddaasl) aie 4l IS Jla) 1_,11_6&)1,@5\@

. _x*=25 R
fx) = - at x =
(5) = 25-25 0
f —5 0
Discontinuous at x=5 because f(5) not defined
/'
2x—1  ,x>2=(2,)
7. f(x) =< at x = 2
(X" =1 ,x <2=(-0,2)

Discontinuous at x=2 because f(2) not defined

I e sl e il 2 24
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8. f(x) = atx = 2
3 X <2
B fl2) ol f2)=3
s 2 A dssisx>2 @l el Al

o ox%2—-x-=2 o (x=2)(x+ 1) _
lim = lim = lim x+1
x—21 X —2 x—-2t X —2 x—2t
=2+4+1=3
s 2 N dssisx<2 s, o) Al
lim 3=3

xX—2~
51 33 53 50 ALl 13} (5 yul Al (5 sl el Al T3
lim f(x) =3 = f(2)
xX—2
diine x=2 aie Jlaty) dag pd oY x=2 aie dlaic Al 1)

f(x)is continuios at x = 2

2 _ 4
flx) == fzz o> 2 AN leadi) el Algl s die 4

X

Al o3 (domain) Jae 22 Ol gl 2 N dssis x>2 oY
f(x) =3, x <2 Al leasiul g Glell Gl dic

Al o3a (domain) e 22 Ol 6l 2 M dssis x<2 oY
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2x—1 ,x >3

9. f(x) =< atx =3

x> —4 ,x<3

\—
sl aladinly f(3) st AN f(x) = x? —4 A Juw B4 X=3

LS\ aljall
f(3)=32-4=9—-4=5
3 dssisx>3 oY fix)=2x-1 Al alasiuly el 4ledl) Caas

lim 2x—-1=23)—-1=6—-1=5

x—3*
dsxisx<3 oY f(x) =x%2—4 A alasinly el 4l cuuas
3
lim x2—-4=32—-4=9—-4=5
xX—3"
1)
lim f(x)= lim f(x)=Ilim f(x)= f(3) =5
x—3% x—3~ x—3
ddias x=3 2ie Jlat¥) by ¥ x=3 e dliate Al 1Y)
f(x)is continuios at x =3

xie (continuous) dlaie fix) Al of cafil JLEaY) ol caal sl Ja b

lim, fC) = lim_f() = lim () = f(c)

S adbe agdil Latd cll g = il Y & 5l s
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daia e fix) Al o) el BEQY Sl dl da &
e AV Ll pdl) ol o s o iS ki x=¢ 2ie(discontinuous)
(2.51 oo

o s e g ld Y sl Basase p2 flc) ) A 2 f(c)

lim  f(x) 3asmse

xX—>+C

ol
lm [ ) e 2

ol
I f@)# lim_f00)

B

lim f(x) # f (c)

10. f(x) =|x?—4x+3] at=1

lim |x?—4x+3| = |limx?—4x+3

x—-1 x—1
vie dlaie g8 (polynomial) 252 3,88 x2 — 4x + 3 Al i Loy
oas 1 2l ) Uy x Ledie Alall 4l ala Y 5 R A@dall slac ) aes
@) Al 37 aaally syl

limx?—4x+3|=[12-41)+3=]|1—-4+3|=10|=0

x—1

f(x)is continuios at x = 1 , f(x)is continuios at all R
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X
11. f(x) = " atx =0

0
f(0) == =7
0) =3
Aaie ye A1) G oo b Y sl tagase ye sl 4 2e 12 f(O)
x=0 c
Discontinuous at x=0 because f(0) not defined

Eua Je) A Y Basage A A (atx=c) flc) JLEAL I il
CANA B o aaelly B il gl

In Exercises 12- 25, find the numbers ,if any, where the
function is discontinuous.

Alall ¢S e Al Gasg o) | dlaeY) anl 25 — 12 okl
.(discontinuous) (ilai) dlaia e
12.f(x) =3x2 —4x + 1

LE‘ daa6all AacY @A;J alaia (& SUAL (polynomial) 2sas 3 23S a1l
Jladi) dalss as oY

Continuous at all real numbers

2x + 4
13. f(x):x2—4x+3

aldall Jaa il SlaeY) (a0 La alae V) aaes dic dliaie o8 Gl 4y Al
s 0 sl
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x>?—4x+3=0, (x-3)(x—-1)=0,x=30rx=1
X=1,x=3 s Jall

L, x2>0s0x2+6>6

x—4
14. f(x) = x2%+6
A 0 (55 o (e Al

No points of discontinuity

sin x
x2 — 4

x> —4=0, x> =2°=(x-2)(x+2)=0

15. f(x) =

x—2)=0, x=2 or(x+2)=0,x=-2
Points of discontinuity are x=2 and x=-2

> ()_2x2—7
) =T
|x| =0, x| +2 =2

A iall (5 Y Laila il

No points of discontinuity
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17. f(x) = |2x% — 3x + 1|

vie Alaic g8 A (polynomial) 353 8 € 2x2 — 3x + 1 Al
S > 0 Laily & 25aall 3,880 dillhal) dagll g R Agiiad) slac Y] aren

o O

A Gl S s Juadi] Llss as oY

No points of discontinuity

18. Fx) = x+2‘
J) = x2 + 2x
x*+2x=0, x(x+2)=0, x=0orx=-2

points of discontinuity are x=0, x=-2

e _
o1 o x #+1
e
19. f(x) = A
3 o x =1
\
f(1)=3
o x?-1 o (x=Dx+1D .
m T Im o s Im D=2

lim f()=2#f(3) =3

point of discontinuity is x=1
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L ,x #0
x+1
20. f(x) =<
1 ,x =0
\
f(0)=1
fim 1 1 B
o0t x+1 0+1
1 1

li _
0~ x+1 —0+1

lim f(x) = lim_ f(x) =lim f(x) =1 = f(0)

No points of discontinuity

.
x%+x—6 X #2
x—2
21. f(x) = <
5 X = 2
\
F(2)=5
o x*+x-6 (x—=-2)(x+3)
lim = lim = lim x+3=5
xX—2~ x — 2 xX—>2~ X — 2 xX—2~
_ x*+x—6  (x=2)(x+3) _
lim = lim = lim x+3=5
x—2+ X —2 x—2%t X —2 x—27
lim f(o) = lim f(0) = £(2) = 5
X—

f(x)is continuous at x = 2 so it is continuous for R
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So no points of discontinuity

22. f(x) = )

F(0)=0
lim —|x|+1=—[0]+1=1% f(0) =0

x—0"

point of discontinuity is x=0

23. f(x) = {

F(2) is not defined

point of discontinuity is x=2
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24. f(x) = sec (2x)

1
fo) = cos(2x)
cos(2x) =0, szz,xzz,2x=3_n,x=3_n
2 4 2 4

2x = S_n X = 5—n

2 4

m 3T 5 tnm ,
X=X =TS odd integer
cos(—x) = cos (x) =8 Y

point of discontinuity are x = % ,nisodd integer

25. f(x) = cot (mx)

cos (Tx)

fx) =

sin (Tx)

sin(mx) =0, x =n,nisinteger

[ x+2 ,x>2
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26. f(x) =
kx? ,x<?2
Find the value of k that makes f continuous on (—oo, o)
(—00,00) (e Aliaia f Jaad il 5 k e 2a

(x+2 , X > 2
26. f(x) =

£(2) = k22 = 4k

lim kx? =k2? = 4k , lim x+2=2+2=4
X—2~ x—27t
4k=4 , k=1

.
ax+b ,x<1

27. f(x) =< 4 x =1

2ax —b ,x > 1

\
Find the value of a, b that makes f continuous on (—o0, 00)

(—00,00) e dlaia f Jaad 5 a,b dad 2a
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f(1)=4

lim ax+b=a(l)+b=a+b

x—1"

lim 2ax —b=2a(1)—b=2a—-0>b

x—-1
a+b=4
2a—b =4

3a=8,a==-, b=4—-—a=4—=-= =

28. f(x) =<
k ,x=3

\
Find the value of k that makes f continuous on (—oo, o)

(—00,0) e dlaia f Jaad Allg k dad aa

F(3)=k

x%2—9 x—3)(x+3
lim = lim ( ) )=1im x+3=6
x-3~ x —23 x—3~ x — 3 x—3~



98

~ sin(cx)+5x
2x+tan (x)

29. f(x) =<
8 ,x =0

\
Find the value of c that makes f continuous at x=0

x=0 ic dlaie f Jead llg ¢ dad 2a gl

f(0)=8
(OSY) G Al x e ) x e asall aas Gy
sin (cx 5x
_ sin(cx) + 5x 35 )+ X
lim = lim
x—0~ 2x +tan (x) x-0- 2x_|_tan (%)
X X
sin (cx C
= xho- tan(x) 2+1 3
2+
X
c+5
3 =8,c+5=24,c=24—-5=19
(
kx +sin(x—2) ,x<2
30. f(x) = 4

4kcos(x —2)—3 ,x> 2
\
Find the value of k that makes f continuous on (—oo, ©)
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f(2) =k(2) +sin(2 —2) = 2k +sin(0) = 2k + 0 = 2k
lim kx + sin(x — 2) =k(2) +sin(2 — 2) = 2k

X—2~

lirgl+ 4kcos(x —2) — 3 =4kcos(2—-2) — 3
X—

= 4kcos(0) —3 =4k(1) —3 =4k — 3

3
2k=4k—3,4k—2k=3,2k=3,k=§

.
xcot(kx) ,x<0

31, f(x) =

x*+c x>0
N
Find the value of c that makes f continuous at x=0

x=0 e iliaie f Jead Ally ¢ A 2l

f(0)=0°4+c=04+c=c
cos (kx)

g oot = Y S Gl ~ 28t Sim Gy 0% (69
— 1 lim cosex) = = lim —— cos(kx)
X508 sin (kx) xoo- COSV) = I8 Sin (k) SOV

L (1) cos(0) = = (1)(1) = =

- (1) cos(0) = (D(1) =

_ 1
f(0) = xll)r(r)l_ S0 ¢ =%



100

In Exercises 32 — 42 find the interval(s) where f is continuous
Laia f 0588 Cua <l il ol 3 3l aa 42 — 32 cpolal) 8
32.f(x) = (2x% + 3x —1)3

) Aiaall 2ae V) aas dic(continuous ) Alaie oo A o gan 3 ,0S f
s Qlsall o5&

(=00, )

33. f(x) = Vx (x + 3)?
sl o6& sl aall sk o e ST 05 O g Jaall i e
x = 0 =10.00)
el cuilS 1| 30 glosall 3 5L31 JaaY el 8 4]

_(x+3)°
fx) BN
4 Gl sall Gl
x>0=(0,0)

5 0 e dendll Y 5 il e 0 22el) Lidds

34, f(x)=\/x2+5x—6
x>°+5x—6=0,x+6)(x—1)=0

x+6=0,x=—6o0orx—1=0,x=1
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i GO ) daaal) dac Y de gane andi Al jlial of LaaY

(_007_6) ’ (_671) ’ (1100)

3 O STl cni e Jrad ) ol ial) Ll s 3 JS sl (Y
0 55l

-8 el Nia L@—\.A 2l Lu; (—OO, _6) g)'_@j\ i i\
(—8)2+5(-8)—6=64—40—6=18>0

Gt e Jaag -6 2=l Qi Lax g 3 il o2 L_;S::((:()ntinuous ) Aliaia Al 13)
Aliaie Al (5S35l 038 (i -6 22adl () 5Sy A O (5 sl 3]l

34l e (continuous)
(—c0, —6]
0 saall She Lgia 326 Cam (=6,1) 558 i
(0)*+50)—6=-6<0
3l 028 e (discontinuous) dlaia ye Al 13)
2 23al) i Lgie 281 i (1, 00) 3l il
(2)2+5(2)—-6=4+10-6=8>0

Ldasy 1 224 Qi Las g 3 yiall oo <=(continuous ) 4aie dlal) 1)
Al 6 ol 5yl o2 Cpana 1 22l () A O (5 ghany HAal) Caas
544l e (continuous) Alais

[1, )
LS\ o el alas) e (continuous) Alata ddlal) (S5 13)

(=00, =6] U [1, )
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1 3
35.f(x) = \/x2+x+1:\/x2 +x+—+—

4 4

(+1)2>0 <+1)2+3>3
* =Y \¥Ty) T1=1

Aaaall e V) aread o ge 22 s Hdall i L T3
Lf\ daagal) Aac Y & die (continuous ) ilaia allal) Qi Lf‘

(=00, )

36. f(x) =x+ —

x—2>0,x>2=2<x= (2, 0:)

(2,00) 35l e (continuous ) daie dlall of sl

37. f(x) =V2x—6
6
2x—620,2xz6,xzz ,x 23 =3<x=]3,0)

[3,00) 35l e (continuous ) dlaie Al )
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38. f(x) = |x% — 4]

&2 dic(continuous ) liaia R SHAL 3 gas 3 ST dallaal) Al <2 F
sa ol gall (6K ol Aaaall slacll

(=00, )

1
xV9 — x2

x#0,9—x2>0,9>x%,-3<x<3=(-33)

39. f(x) =

Aliaie Al (o)) (sl 5yl 338 (pe 0 2and) Cadas SAl ¢ £ 0 o La
Gl Alssl e ((continuous)
(—3,0) U (0.3)
s Y
if x2 <a then—+a<x<+a

if x2>athenx >+a orx < —/a

VX — T

Ssin x

40. f(x) =

x—m=0,x=>msinx =0 sox =nm ,nisinteger
sinx #0if x #nmsox <nmworx >nn
x < nmw = (—oo,nmw)or x > nmw = (nm, o)
ol alsdl e (continuous ) dlaie Al of

(—o0, nm) U (nm, )
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2x + cosx

41. f(x) =
f(x) 1 —sinx
L] L n '] ]
1—sinx=0,sinx=1 sox=5+2nn,nlsmteger
T T T
x¢§+2nn,sox<z+2nn orx>§+2nn

c el ol e (continuous ) =i adlal) Qi Lf‘

(—OO,g+2nn )U(g+2nn ,00)

X — COS X
54+ 2sinx

—1<sinx<1, 54+2(-1)=5-2=3

42. f(x) =

54 2sinx >3

Aac Y & die (continuous) alaia adlal) Qi LS\ Wl o e e\ﬁ.d\
L..si .~“..“.. “

(=00, )
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In Exercises 43 — 46 redefine the functions to make it

continuous at c.

¢ 2ic (continuous ) Aaie Leleadl J) sall Cay ja3 201 46 — 43 Gl

43, F(x) = 2x% — 3x — 0o

fx) = oy C=

2x2-3x . x(2x—-3) _ (2x—-13)
lim—— = lim = lim ——
x—0 S5x x—0 S5x x—0 5
_200-3 3

5 5

OS8Ol G 0 2ie (continuous)  Aaie Al S5

3
limf(x) = f(0) sof(0) =—¢

e
2X 3x ,_'X,'#:O
5x
f) =<
3 —
L —g ,X—O
14 ()_x2—3x+2 1
fx) = — ) c =
x* —3x+2 x—1)(x -2
lim :lim( ) ):limx—2=—1
x—1 x—1 x—1 x—1 x—1

f(1)=1



106

,x +1
x—1
flx) =<
1 o x =1
~ )
43 Gl da il
vx+1-1
45. f(x) = " c=0

CoVx+1-1 (Vx+1-1)Wx+1+1)
lim = lim
x>0 X x=0 x(Vx+1+1)
sl e paldill agle Uiand g laal) (38) j0 8 W i
x+1—-1 1 1 1

= lim = lim = =
=0 x(Wx+1+1) *0+4x+1+1 0+1+1 2
f(0) =

1

2
4 1-1
% X+ 0
fx) =
1
\_ E , X =

43 o<l Ja s
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tan (3x)

46. = ——— ,c=0
fx) - €
I tan (3x) 3
xl—r>r(l) 7x B 7
L tan (ax) a 5y
xl—I;% bx B b =
f(0)
4 t 3
an (3x) , X # 0
7X

FG) =

N - X =

43 ool Ja el

In Exercises 47 — 54 use the continuity to evaluate the limit.

el Clad Juai¥l duala axiin) 54 — 47 Gl

47. lim x+/20 — x?

xX—4

lim x/20 —x? = (llmx) (lim /20 — x?)

x—4 x—4 x4

(timax) (\/hm(20—x2)—(4)(,/20—16 = 4% =8

x—>4
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48. lim sin (r + sinx) = sin (it + sinm) = sin (7 + 0)
X—TT

= sin(m) =0

- _ 42
4 —x2 \/4—x2_\/alcl—r>r(l) (4 =x%)

49, lim = |lim
=0 1+x 0 VI +x Jhm(1+x)
x—0
~ 4—0_\/4_2_2
- Ji¥0 V1 1

5a1m1%ﬁ—4x+2=ihm@&—4x+m

xX—2 xX—2

=23 -4)+2=38-8+2=32

5
51 1 _ 5—7TX]_ lim s x T . 0-m
. lim sin % T 1 = limsin 2+1 = sm[2+0]
X

= sin [_Tn = —sin [g] = -1
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1 1
_ mx?—x+1 _ T—yt22
52. lim tan = lim tan
X—00 3x2 + 1 X—00 3 1
+ ﬁ

m—04+0 T
= = — | = 0y —
= tan( 370 )— tan (3) tan(60°) = V3

x2+x—-6 = (x—2)(x+3)
xX—2 X —2

= lim|x+3|=|lim(x+3)|=2+3=5
xX—2 xX—2

Z4x—2 —1)(x +2
54. lim sin (x x > = lim sin ((x )(x )>

x—1 6(x - 1) x—1 6(x — 1)
_ lim i x+2y 1+ 1
= lim sm( 3 ) = sm( c ) = sin (E)

In Exercises 55— 57 use the Intermediate Value Theorem to
find the value of c such that f(c)=k

O Cuny ¢ A aail Ao giall Al 4 plai axdiul 57 — 55 ¢ lall
f(c)=k
<ilS 135 [a,b]  Adlaall 5yl e (continuous) Adaia £ adlall colK 1)

Cuss[a,b] B € e J8YI e o ald f(b) 5 fla) om o ol Ak
f(c)=k ol
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55. f(x) =x%?—x+1 on[-14] k=7
A A x oo alicase 1)) Cusyy 4 5 -1 Gl G Tase aai o
7 6 sh sl k slon )

1 2a=l) oyl
fFD=12-14+41=1%7

3 2aall el
f(3)=32-3+1=9-3+1=7=k
C=3

56. f(x) =x3—2x*+x—2 on[0,4],k =10

Adlall A x e 4w bae 13 dusag 4 5 0 Cpdaad) s Tade aas o &y g3
10 b sl k ssbon gl

2 22all oyl
F(2)=23-222+2-2=8-8+2-2=0#10

3 22all ol
f(3)=33-232+3-2=27-18+3-2=10=k
C=3
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on[—4,-2],k =2

57. f(x)=?;;1

téjx O 4 liase 1)) &g -2 5 -4 diad\dgghscq;jgigw;
2 b sl k sslon gl 8 AN

-3 2l

In Exercises 58 — 61 use the Intermediate Value Theorem to
show that there is at least one root for the equation in the

given interval

e 2 s 4l peaa gil Ao giall dall 4 5k aadin) 61 — 58 Gkl
sUazall 5 yiall 8 Alolaall aaly j3a (J8Y

58. x3—2x—1=0;[0,2]
F0)=—-1,f2)=23-2(2)—1=8-4—1=3
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&8 4ald g 230 £(2) Of Lang X sae o oy adls Al 220 £(0) o) L
e die X yna ey o gas Lpans ) (8 Al ) Gl Lany Xy sma (358
f(c)=C3—2C—1=O Qig"siXJ)Mér—c adaasl)

59. x* —2x3—3x24+7 =0 ;[1,2]
F(1)=1* =213 -3124+47=1-2-3+7 =3
f2Q)=2%-223-322+7=16—-16—-12+7= -5

égﬁ}jg_\;yax:f(1)dibgjxjj;.qa;3c_§4j}jqumcf(2) o Lay
Sie die X sae adaly (o gas Lpansy 8 Aiaia A ) Lary X gme (358
f(C)=0 u\LS\XJJMGk;c alaal)

60. x —cosx =0;[0,1]
f(0)=0—-cos(0)=0—-1=-1
f(1)=1—-cos(1) >0

e 4ld (s dae £(1) O Laas X sae s aly 4ild s 22e £(0) o W
Sie die X sae adaly (o gas Lgansy Gl Aiaia A ) Lary X gme (358
fl©)=0 gl X smale ¢ ddail

61. x* —2x3 =+vx —1;[2,3]
x* —2x3—Vx—1=0;[23]
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x—120,x=>21=1<x=[1, )

5yl Je dliatia L Sl [1, 00) 3l e (continuous) 4lais allal)
[1,00) 3588l (e 4 3 e sena [2,3] 38 0¥ [2,3]

f(2)=2%-222-/2-1=16-16—-1=-1
f(3)=3%*—233-4/3-1=81-54—-/2=27-+2>0

&8 ald i g 220 £(3) Of Lang X sae o oy adld Al 220 £(2) o) e
e vie X yna adady o gas Lganey (b Aliaiia Al () Layy X g (358

62. Let f(x) = x?, use the Intermediate Value Theorem to
prove that there is a number cin the interval [0,2] such that
f(c)=3
8 € e da g Al il Ao giall dagl) 4 ks andial | f(x) = x? oSl
flc)=3 ol <u~[0,2] sl
f(0)=0,f(2)=4
C 23 2 g ddau giall dal) 4y Hlad s 13) £(2) =4 5 £(0)=0 G 3 23]l
5[0,2] 58 8+/3 i f(c)=3 of Cuas [0,2] sl b
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f(V3) = (¥3)* =3
c =13



